read;nvar=17;nobs=453;file=C:\Users\cbr95\Box\UDrive Data_flm\00Work-Purdue\new_laptop\CE697N-disk\LOGIT-A1.txt$

create;cage=86-x15$

create;price=(x7/10)/x17*1.05$

nlogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=pricea*price/

u(rural)=rural*one+pricer*price+cager*cage/

u(freeway)=freeway*one+pricef*price+cagef*cage

;effects:price(arterial,rural,freeway)$

Reject;x11=0$

nlogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=pricea*price/

u(rural)=rural*one+pricer*price+cager*cage/

u(freeway)=freeway*one+pricef*price+cagef*cage

;effects:price(arterial,rural,freeway)$

Include;x11=0$

reject;x11=1$

nlogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=pricea*price/

u(rural)=rural*one+pricer*price+cager*cage/

u(freeway)=freeway*one+pricef*price+cagef*cage

;effects:price(arterial,rural,freeway)$

Include;x11=1$

create;if(x11=1)mprice=price$

create;if(x11=0)fprice=price$

create;if(x11=1)mcage=cage$

create;if(x11=0)fcage=cage$

create;if(x11=1)male=1$

create;if(x11=0)female=1$

nlogit;lhs=x1;choices=arterial,rural,freeway;model:

u(arterial)=priceam*mprice+priceaf*fprice/

u(rural)=ruralm*male+ruralf*female+pricerm*mprice+pricerf*fprice+cagerm*mcage+cagerf*fcage/

u(freeway)=freewaym*male+freewayf*female+pricefm*mprice+priceff*fprice+cagefm*mcage+cagerff*fcage$
